S7 Maths & Stats

Solution for homework

Ex 3a 

5) Let A be the event that the number on the ball drawn is divisible by 2.

Let B be the event that the number on the ball drawn is divisible by 3.

Let C be the event that the number on the ball drawn is divisible by 5.

a)
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c)

Remark:

A={2,4,6,8,10,12,14,16,18,20,22,24,26,28,30,32,34,36,38,40}

B={3,6,9,12,15,18,21,24,27,29,30,33,36,39}

C={5,10,15,20,25,30,35,40}

8) Let A be the event that a household had a TV.

Let B be the event that a household had a telephone.

Let C be the event that a household had a car.

Given that

P(A) = 0.6  ;  P(B) = 0.7   ;  P(C)=0.3  ;  
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b)
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c)
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= 1-(0.6+0.7+0.3-0.45-0.15-0.2+0.05) = 1-0.85 = 0.15

Ex 3b

7)
Let A be the event that it will snow and

let B be the event that the plane will take off on time.

Given P(A) = 0.3  ;   P(B | A) = 0.4   and   
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c)
Since 
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10)
Let A be the event that exactly one head is obtained from the 2 coins.


Let B be the event that a score of 5 is obtained from the die/dice.

a)
Consider 
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b)
Since 
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Since 
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Since 
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Hence 
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